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QUESTION 1

How many arrows can connect to a partition? 

A. none 

B. one 

C. two 

D. any number 

Correct Answer: A 

 

QUESTION 2

In the exhibit, what is true for Massert? 

A. Following a message p, a message m would be valid. 

B. Following a message p, a message m would be invalid. 

C. A message q that occurs before a message p is invalid. 

D. A message p may come anywhere in the assert combined fragment. 

Correct Answer: B 

 

QUESTION 3
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What kind of element is a central buffer? 

A. state 

B. action 

C. activity 

D. behavior 

E. object node 

F. control node 

Correct Answer: E 

 

QUESTION 4

What is true of a local transition of a state? 

A. equivalent to an internal transition 

B. any transition that occurs only in that state 

C. a transition that cannot be triggered if no substate is active 

D. a transition that will not execute the exit and entry actions of the state but only those of its substates 

Correct Answer: D 

 

QUESTION 5

What might a connector specify? 

A. links 

B. classes 

C. messages 

D. associations 

E. dependencies 

Correct Answer: A 
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